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      General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the questions carefully before answering.

l Write answer to the specific number of questions as instructed.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

     j]¡SÇw°¥:j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OÐO.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

l IŠL v]nLY¾]sOU j]¡SÇw]¨RÕŸ I¹U S\Lh|°¥ V̈ oLNfSo D¾qU
IuOSfºfOttP.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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Answer any five  from question
numbers 1 to 6. Each question carries
two marks.
1. Match the following.

1 oOf¤ 6 vRqpOtt S\Lh|°t]¤

JRfË]sOU 5 I¹U D¾qU IuOfOW.

KLSqL S\Lh|U 2 oL¡¨V v}fU.

1. S\qOUka] S\¡¨OW.(2)

2. Categorize the following data as
discrete or continuous.

a) The number of employees in
a factory.

b) Weight of infants born in a
hospital.

c) Density of liquids stored in a
laboratory.

d) The position of a student
when students in a class are
arranged according to their
height.

                              A                         B

a) Yearwise recordings of data of food i) Quantitative classification
production
nƒ| vyVfO¨tORa D¤ÕLhjvOoLp] mÌRÕŸ W~Lº]Rãã}vV WæLy]l]S¨x¢

vL¡x]W r]SÕL¡ŸOW¥

b) Census data published for citywise ii) Qualitative classification
population in India
CÍ|p]Rs v]v]i jYq°t]Rs ^jyUX|Rp W~Lt]Sãã}vV WæLy]l]S¨x¢

WLe]¨OÐ Ry¢yyV r]SÕL¡ŸOW¥

c) The data recorded according to standard iii) Geographical classification
of education like illiterate, primary,
secondary etc.
v]h|Ln|Ly j]svLqR¾ j]qƒq¡, RRNkor], ^]SpLNYLl]¨¤ WæLy]l]S¨x¢

Ry¨¢cr] IÐ]°Rj fqU f]q]\ÿ]ŸOtt We¨OW¥

d) Distribution of families according to iv) Chronological classification
their size
AUY°tORa I¹R¾ Aa]òLjoL¨] WOaOUm°Rt SNWLSeLt^]¨¤

fqUf]q]\ÿOtt We¨OW¥ WæLy]l]S¨x¢.

2. fLRu krpOÐ ScãRp "c]yVNW}ãV',

"W£]j|PvyV' IÐ]vpLp] fqU

f]q]¨OW.

a) KqO lLWVar]p]Rs RfLu]sLt]

WtORa I¹U.

b) KqO BwOkNf]p]¤ ^j]\ÿ

w]wO¨tORa nLqU.

c) KqO sSmLrŸr]p]¤ yPƒ]\ÿ]q]

¨OÐ NhLvW°tORa yLNÎf.

d) KqO WæLy]Rs WOŸ]WRt AvqORa

Dpq¾]jjOyq]\ÿV NWo}Wq]¨O

SÒL¥ KqO WOŸ]pORa òLjU.

(2)

(2)

(2)
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3. The age and sleeping hours of 12
persons admitted in a particular
wing of a hospital are listed
below. Draw a scatter plot.

3. KqO BwOkNf]p]Rs KqO NkSf|W

v]nLY¾]¤ NkSvw]¨RÕŸ]ŸOtt 12
BtOWtORa NkLpvOU AvqORa Dr¨

yopvOU RWLaO¾]q]¨OÐO. "ðLã¡

SkæLŸV' vqpV¨OW.

Age 30 23 42 45 50 78 65 70 60 72 27 48

Hours
5 3 6 5 6 4 7 4 5 3 6 7of sleep

4. The mean value of the weekly
income of 40 families is 2650.
Later on the analysis, it was
found that the income of one
family is misread as 1500 instead
of 1150. Find the correct average
of weekly income.

5. a) For a Leptokurtic curve

2 ...........β =
i) 0
ii) 3
iii) less than 3
iv) more than 3

b) The frequency curve of a
certain distribution has the
following shape. Identify the
type of skewness.
i) Symmetric
ii) Positively skewed
iii) Negatively skewed
iv) Cannot be determined

4. 40 WOaOUm°tORa KqLuV\p]Rs

wqLwq] vqOoLjU 2650 qPkpLeV.

IÐL¤ KqO WOaOUm¾]R£

vqOoLjU 1150 IÐf]jO kWqU

1500 IÐV SqXRÕaO¾]p]q]¨O

ÐfLp] k]Ð}aV WRº¾]. IË]¤

wq]pLp wqLwq] vqOoLjU

We¨L¨OW.

5. a) KqO "RskVSãLW¡Ÿ]WV W¡v]'R£

2 ...........β =
i) 0
ii) 3
iii) oPÐ]¤ WOrvV

iv) oPÐ]¤ WPaOf¤

b) KqO v]fqe¾]R£ BvQ¾]

vNW¾]R£ oLfQW fLRu

WLe]\ÿ]q]¨OU NkWLqoLeV. JfO

fqU yVW~PjyV BReÐV

f]q]\ÿr]pOW.

i) y]oNa]WV

ii) SkLy]ã}vV yVW~OvVcV

iii) RjYã}vV yVW~OvVcV

iv) WRº¾L¢ Wu]p]sæ (1)

(1)

(2)

(1)

(1)

(2)

(2)

(2)
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6. KqO vs]p SxLÕ]‚V oLt]Rs

oL¡¨ã]‚V J^¢y] B NkShw¾V

RNWc]ãV WL¡cV DkSpLY]¨OÐ

BtOWRtÕã] KqO v]vq SwXqeU

ja¾L¢ f}qOoLj]\ÿO. Av¡¨O

W]Ÿ]p v]vq°¥ fLRu

SqXRÕaO¾]p]q]¨OÐO.

6. In a large shopping mall, a

marketing agency conducted a

survey on credit cards. The

results are shown in the table.

(2)

(2)

Employment status Owns a credit card Does not own a credit card

DSh|LY j]svLqU RNWc]ãV WL¡cV Dttv¡ RNWc]ãV WL¡cV CsæL¾v¡

Employed
18 29

S^Ls]pOttv¡

Unemployed
28 34

S^Ls]p]sæL¾v¡

If a person is selected at random,

find the probability of a person

owns a credit card given that he

is employed.

Answer any six from question

numbers 7 to 13 . Each question

carries three marks.

7. a) A person who is intended

to make investigation is

called .........

i) enumerator

ii) investigator

iii) informant

iv) witness

Cvq]¤ j]ÐV KqLRt

f]qR´aO¾SÕL¥ ASÇz¾]jO

S^Ls]pOttfLp] WRº¾]. IË]¤

AfV RNWc]ãV WL¡cV RRWvwoOtt

BtLvLjOtt yUnLv|f

IÍLp]q]¨OU.

7 oOf¤ 13  vRqpOtt S\Lh|°t]¤

JRfË]sOU 6 I¹U D¾qU IuOfOW.

KLSqL S\Lh|U 3 oL¡¨V v}fU.

7. a) C¢Rvð]SYx¢ ja¾L¢

\OofspOtt Bt]Rj ................

IÐO v]t]¨OÐO.

i) Ij|OoSrã¡

ii) C¢Rvð]SYã¡

iii) C¢SlL¡Ro£V

iv) v]ãVjyV (1)(1)
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b) S\qOUka] S\¡¨OW.b) Match the following.

8. There are 1440 employees in a

certain company of all

employees, 480 are women. In

the women employees 120 are

married and among men

employees 240 are married.

Tabulate the data.

                                  A                            B

i) Answers are filled by the respondents 1) Focus group discussion

v]vqU j¤WOÐpL¥ y~poLp] SlL¨yV NYPÕV

D¾q°¥ IuOfOÐO v]vqSwXqeU

ii) Informants need not be literate 2) Telephone interview

v]vq°¥ j¤WOÐpL¥ Ras]SlLe]sPRa

yLƒqjLp]q]¨eU IÐ]sæ v]vqSwXqeU

iii) Collects data from the informant 3) Mailed questionnaire

personally but not directly

v]vq°¥ j¤WOÐfV v]vqhLfLvV S\Lh|Lvs](W~ðjp¡)

y~poLp] kRƒ Sjq]Ÿsæ Ap¨OÐ q}f]

iv) Collect more opinions about a specific 4) Schedule

topic to take better decision

KqO NkSf|W v]xpR¾Õã] jsæ f}qOoLjU Rxc|P¥

IaO¨OÐf]jO Svº] KÐ]¤ WPaOf¤

An]NkLp°¥ y~}Wq]¨OÐO

8. KqO WÒj]p]¤ 1440

RfLu]sLt]WtOºV. Af]¤ 480 Sk¡

yVNf}WtLeV. yVNf} RfLu]sLt]Wt]¤

120 Sk¡ v]vLz]fqLeV. kOqOx

RfLu]sLt]W¥ 240 Sk¡

v]vLz]fqLeV. CT v]vq°¥

kŸ]WLqPk¾]sL¨OW.(3)

(2)

(3)

(2)
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9. From a partially destroyed back
files, the following information
are obtained. The total
expenditure of the family in a
month is Rs. 10,800. The angle
of sectors related to the
expenditure are given below.

           
Items

Angle of sectors
corresponding
to expenditure

Food 1080

Fuel and clothing 1140

Rent and Electricity 960

Education 14.40

Miscellaneous 27.60

a) Which diagram is most

suitable for representing this

data and represent the data

in a rough diagram?

b) Calculate the actual

expenditure for education.

10. The mean monthly salary paid to

all employees in a company is

Rs 15,900/-. The mean salaries

paid to the technical and

nontechnical employees are

Rs. 18,000 and Rs. 12,000.

Determine the percentage of

technical and nontechnical

employees in the company.

9. nLY]WoLp] v]vq°¥ jxVaRÕŸ KqO

lps]¤ j]ÐOU fLRu krpOÐ

v]vq°¥ sn]\ÿO. KqO

WOaOUm¾]R£ KqO oLyR¾ BRW

R\svV 10,800 qPkpLeV. v]v]i

\]sv]j°t]Rs SWLetvOW¥

fLRupOtt kŸ]Wp]¤

WLe]\ÿ]q]¨OÐO.

     

\]svOW¥

v]v]i

\]sv]j°tORa

SWLetvOW¥

BzLqU 1080

CÌjvOU vyVNfvOU 1140

vLaWpOU RRvh|Of]pOU 960

v]h|Ln|LyU 14.40

ksvW 27.60

a) CT v]vq°¥ SqXRÕaO¾OvL

¢ JãvOU AjOSpL^|oLp

cpNYSofV. CT v]vq°¥

JWShw \]Nf¾]¤

SqXRÕaO¾OW.

b) v]h|Ln|Ly¾]jO Svº]

\]svL¨]p pgL¡À fOW

INfRpÐO We¨L¨OW.

10. KqO WÒj]p]Rs oOuOv¢

RfLu]sLt]WtOSapOU Svfj¾]R£

wqLwq] 15,900 qPkpLeV. v]hYVÈ

RfLu]sLt]WtORa wqLwq] SvfjU

18,000  qPkpOU Av]hYVÈ

RfLu]sLt]WtORa wqLwq] SvfjU

12,000 qPkpOU BWOÐO. IË]¤

v]hYVÈ RfLu]sLt]WtOSapOU

Av]hYVÈ RfLu]sLt]WtOSapOU

I¹U wfoLj¾]¤ We¨L¨OW.
(3)

(3)

(1)

(1)

(2)

(2)
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Compute the covariance

between age of drivers and

number of accidents.

13. The first four central moments

of a distribution are 0, 3, 0 and

27. Determine skewness and

Kurtose's of the distribution and

comment on the nature of the

distribution.

11. KqO WæLy]Rs 9  WOŸ]WtORa

nLqU(W]SsLNYLo]¤) fÐ]q]¨OÐO.

CT v]sWtORa o}c]p¢

BiLqoL¨]pOtt o}¢ c}v]Spx¢

We¨L¨OW.

12. KqO jYq¾]Rs SrLckWa°tORa

We¨V kq]SwLi]\ÿSÕL¥ fLRu

krpOÐ v]vq°¥ sn]\ÿO.

(3) (3)

11. Weights of nine students of a

class are given below. Calculate

the mean deviation about the

median of the series.

12. While studying about the road

accidents in a city, the following

data was obtained.

           Weight (Kg.)
47 50 58 45 53 59 47 60 49

     nLqU (W]SsLNYLo]¤)

Age of drivers
19 21 30 45 50 54 25

RRNcvrORa NkLpU

No. of motor accidents
50 52 40 22 10 14 35

SrLckWa°tORa I¹U

RRNcvrORa NkLpvOU SrLckWa

°tORa I¹vOU fÚ]sOtt

SWLSvq]p¢yV We¨L¨OW.

13. KqO v]fqe¾]R£ Bh|R¾ jLsV

"Ry¢Na¤ RoLo£VyV' 0, 3, 0, 27

IÐ]°RjpLeV. CT v]fqe

¾]R£ yVW~PjyV, W¡SŸLy]yV Cv

We¨L¨] v]fqe¾]R£

y~nLvR¾Õã] v]sp]qO¾OW.

(3)

(3)

(3) (3)
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14 oOf¤ 19 vRqpOtt S\Lh|°t]¤

JRfË]sOU 5 I¹U D¾qU IuOfOW.

KLSqL S\Lh|U 4 oL¡¨V v}fU.

14. a) ðLã]ð]WVyV ................ RjÕã]

\¡\ÿ R\áOÐO.

i) v|©]Yf v]sW¥

ii) NkSf|W v]sW¥

iii) WPŸLpOtt v]sW¥

iv) JRfË]sOU v]sW¥

b) NSSO  IÐ wLXRpÕã] KqO

WOr]ÕV fáLrL¨OW.

15. 50 Sk¡ D¥RÕaOÐ KqO yLÒ]t]Rj

qLNf] nƒe¾]sOtt AvqORa

An]NkLp¾]jjOyq]\ÿ V  "o|P\ÿs]

IWVyVWæPy}vV' NYPÕOWtLp] fqU

f]q]\ÿO. 21  Sk¡ Aq]pLzLqU

CxVaRÕaOÐO. 22 Sk¡¨V \ÕL¾],

5 Sk¡ k\ÿ̈ r] yLscV, 2 Sk¡ yPÕV

Cvp]¤ fL¤kq|U WLe]\ÿO. CT

yLÒ]t]¤ j]ÐV KqO v|©]Rp

rL¢cU Bp] f]qR´aO¾L¤

ApL¥:

a) Aq]pLzLqU CxVaRÕaOÐ

BtLWLjOtt yUnLv|f IÍV?

b) \ÕL¾]SpL k\ÿ¨r] yLsScL

CxVaRÕaOÐ BtLWLjOtt

yUnLv|f IÍV?

c) \ÕL¾]pOU Aq]pLzLqvOU

CxVaRÕaOÐ BtLWLjOtt

yUnLv|f IÍV?

d) yPÕV CxVaRÕaL¾ BtLWLjOtt

yUnLv|f IÍV?

Answer any five  from question
numbers 14 to 19. Each question
carries four marks.

14. a) Statistics deals with ...........

i) individual items

ii) special items

iii) aggregate of items

iv) any items

b) Write a short note on NSSO.

15. A sample of 50 people are

divided into matually exclusive

groups based on their opinion

about the dinner they like. 21

like rice, 22 like chapathi, 5 like

vegetable salad and 2 like soups.

A person is selected at random.

Find the probability that,

a) he likes rice

b) he likes chapathi or

vagetable salad

c) he doesn't like chapathi or

rice

d) he doesn't like soup.

(4)

(3) (1)

(1)

(3)

(4)
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16. The distribution of sales (in

numbers) of 'brand A' toothpaste

in a marginfree shop in a town

is given below. Find the mode of

the distribution.

16. KqO oL¡^]¤Nl} SxLÕ]¤

v]ãOSkLWOÐ "NmL¢cV A' aP¾V

Skð]R£ v]ãOvqv]R£ I¹¾]R£

v]fqeU fLRu RWLaO¾]q]¨OÐO.

CT v]fqe¾]R£ SoLcV

We¨L¨OW.

Day Mon Tue Wed Thu Fri Sat

h]vyU f]Ë¥ R\Lvÿ mOi¢ v|LuU Rvtt] wj]

Price / v]s 200 210 208 160 220 250

No. of weeks
3 7 6 8 4 2

BuV\WtORa I¹U

Sales (in numbers)
0–9 10–19 20–29 30–39 40–49 50–59

v]ãOvqvV (I¹¾]¤)

Number of days
4 10 20 11 3 2

h]vyU

17. a) The range of a set of values

is 16 and its minimum value

is 21, the maximum value

is .........

i) 5 ii) 37

iii) 42 iv) 26

b) Prices of shares of a company

were noted from Monday to

Saturday for 30 weeks. Find

the quartile deviation of

prices of shares.

17. a) KqO RyãV v]sWtORa SrµV 16

DU Avp]Rs JãvOU R\r]p

v]s 21 DU BpL¤ vs]p v]s

.................. BWOÐO.

i) 5 ii) 37

iii) 42 iv) 26

b) KqO WÒj]pORa 30 BuV\Wt]¤

f]Ë¥ oOf¤ wj] vRqpOtt

h]vy°t]Rs KLzq]WtORa v]s

We¨L¨]p]q]¨OÐO. WÒj]

pORa KLzq] v]sWtORa

"W~L¡Ÿp]¤ c}v]Spx¢'

We¨L¨OW.

(4)

(4)

(3)

(1)(1)

(3)
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18. a) fLRu krpOÐf]¤

"RNkLmm]s]ã] yLÒVt]‚V q}f]

JfLeV?

i) W¦v}j]p¢yV yLÒVt]‚V

ii) ^c^SRo£V yLÒVt]‚V

iii) y]ðoLã]WV yLÒVt]‚V

iv) SW~LŸL yLÒVt]‚V

b) yTzQh Wæm]R£ IWVy]W|PŸ}vV

WÚ]ã] qPk}Wq]¨OÐf]jLp]

KqO yVWPt]¤ j]ÐOU 3 B¦

WOŸ]WStpOU 2 Rk¦WOŸ]WStpOU

D¥RÕaOÐ KqO yLÒ]¥

f]qR´aO¾O. Cvq]¤ j]ÐOU

KqO RRvyV Nky]c£]SjpOU KqO

RyNWŸr]SppOU INf q}f]p]¤

f]qR´aO¨LU. B S^Lc]W¥

JRfLR¨RpÐV IuOfOW.

(B¦WOŸ]WRt B1, B2, B3

IÐOU Rk¦WOŸ]WRt G1, G2
IÐOU IaO¨OW)

19. a) KqO yVWPt]R£ k].ã].I. kLb|L&

jOmÌ Nkv¡¾j°¥¨Lp]

NkSf|W AÈ|LkWRq j]po]¨O

Ðf]jO f}qOoLj]\ÿO. Y]ãL¡,

fms IÐ]v kb]Õ]¨OÐf]

jLp] 2 AÈ|LkWRq j]po]\ÿO.

30% WOŸ]W¥ Y]ãL¡ WæLy]¤

S\qL¢ f}qOoLj]\ÿO. 20%
WOŸ]W¥ fms WæLy]¤ S\¡ÐO.

10% WOŸ]W¥ qºO WæLy]sOU

S\¡ÐO. IË]¤ B yVWPt]¤

j]ÐOU f]qR´aO¨OÐ KqO

WOŸ]:

i) CT qºO WæLy]¤ JRfË]sOU

KÐ]¤ D¥RÕŸfLvLjOtt

yUnLv|f IÍV?

ii) CT qºO WæLy]sOU

D ¥ R Õ a L f ] q ] ¨ L j O t t

yUnLv|f IÍV?

18. a) Which one of the following is
a probability sampling?

i) Convenience sampling

ii) Judgement sampling

iii) Systematic sampling

iv) Quota sampling

b) A sample of 3 boys and 2 girls
of a school are selected to
form an executive committee
for Souhrida club. How many
different ways, a Vice
President and a Secretary
can be selected from the
group? List the pairs. (Take
boys as B1, B2, B3 and Girls
as G1, G2)

19. a) The PTA of a school decides
to appoint teachers for
cocurricular activities in
their school. They appoint
teachers for Guitar and
Tabala. 30% students joined
in Guitar class and 20%
joined in Tabala class. 10%
joined in both the class. A
student is selected at
random from the school.
What is the probability that,

i) The student is enrolled in
any of the two classess?

ii) The student is not
enrolled in any of the
classess?

(1)

(3)

(1)

(3)

(3)

(3)
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b) A IÐ Cv£]Rs AUY°¥

D¥RÕaL¾ Cv£]Rj .................

IÐO krpOÐO.

i) RRNkor] Cv£V

ii) c]RRrvVcV Cv£V

iii) y]Ò]¥ Cv£V

iv) SWLUkæ]Ro£r] Cv£V

20 oOf¤ 22 vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹U D¾qU IuOfOW.

KLSqL S\Lh|U 6 oL¡¨V v}fU.

20. a) KqO v|©]¨V 4 v¡x¾]¤

DºLp wÒt v¡Èj

(wfoLj¾]¤) CNkWLqoLeV.

8%, 6%, 4%, 5%.  JãvOU

AjOSpL^|oLp q}f]p]¤ wÒt

v¡ÈjpORa wqLwq] WLeOW.

b) KqO WæLy]Rs WOŸ]WtORa SkL¨ãV

oe]pORa v]fqeU kŸ]WL

qPk¾]¤ fLRu RWLaO¾]q]

¨OÐO. CvRp kŸ]WpL¨]

pSÕL¥ 40–49 jOU 60–69 jOU

Cap]¤ SkL¨ãV oe] DkSpLY]

¨OÐ WOŸ]WtORa I¹U

AÈ|Lk]WpV¨V jxVaRÕŸO. CT

v]fqe¾]R£ o}c]p¢ 42

AReË]¤ jxVaRÕŸ

BvQ¾]W¥ We¨L¨OW.

WæLy]Rs BRW WOŸ]WtORa

I¹U 40 BWOÐO.

b) An event consisting of those
elements which are not in A
is called ........

i) primary event

ii) derived event

iii) simple event

iv) complimentary event

Answer any two  from question
numbers 20 to 22. Each question
carries six marks.

20. a) A person received the

following percentage

increase in salary over a four-

year period. 8%, 6%, 4% and

5%. Calculate the

appropriate average increase

per year.

b) The following table shows

monthly pocket expenses of

students in a class. While

tabulating data, the teacher

miss the number of students

who have pocket expenses

between 40–49 and 60–69.

But she knows that the

median of pocket expenses is

Rs. 42. Find the missing

frequencies, if the total

number of students in the

class is 40.

Pocket expenses
20–29 30–39 40–49 50–59 60–69

SkL¨ãV oe]

No. of students
10 8 ? 4 ?WOŸ]WtORa I¹U

(1)

(2)
(2)

(4)
(4)

(1)



K- 12

120

21. yUòLj v]h|Ln|Ly vWOÕV 2
sLkVSaLÕV j]¡ÚLe WÒj]Wt]¤
j]ÐOU sLkVSaLÕV vL°L¢
f}qOoLj]\ÿO. B WÒj]WtORa
Syvj°RtÕã] ASj~x]\ÿr]pL¢
KqO ã}o]Rj \OofsRÕaO¾]. 6
v|f|yVf òLkj°t]¤ j]ÐOU
Av¡ SwXq]\ÿ v]vq°¥ \OvRa
RWLaO¾]q]¨OÐO.

21. The State Education
Department decided to purchase
laptops from manufactures of
two laptop companies. A team
was deputed to study about their
services in 6 institutions and the
study report is as follows :

a) Find the coefficient of
variation of service time of
two companies.

b) Which company is more
reliable in service?

22. a) There are two groups of
students consisting of 4 boys
and 2 girls, 3 boys and 1 girl.
One student is selected from
both the groups. What is the
probability that one boy and
one girl being selected?

b) A machine part is produced
by three factories A, B and C.
Their proportional
production is 25%, 35% and
40% respectively. Also the
percentage of defectives
manufactured by three
factories are 4%, 5% and 2%
respectively. A part is
selected at random and is
found to be defective. What
is the probability that the
selected part belongs to
factory B?

a) qºO WÒj]WtOSapOU Syvj
yop¾]R£ "SWLIl]x|£V
KLlV Svq]Spx¢' WLeOW.

b) JfO WÒj]pORa SyvjoLeV
WPaOf¤ v]w~Ly|fpOttfV.

22. a) 4 B¦WOŸ]WtOU 2 Rk¦WOŸ]
WtOU, 3 B¦WOŸ]WtOU 1 Rk¦
WOŸ]pOU D¥RÕaOÐ q}f]p]¤
v]h|L¡À]WtORa qºO NYPÕOW¥
DºV. qºO NYPÕ]¤ j]ÐOU KLSqL
WOŸ]WRt f]qR´aO¾L¤ B
WPŸ¾]¤ KqO B¦WOŸ]pOU KqO
Rk¦WOŸ]pOU D¥RÕaLjOtt
yUnLv|f IÍV?

b) KqO DkWqe¾]R£ ks
nLY°¥ A, B, C IÐ} oPÐO
lLWVar]Wt]¤ j]¡Ú]¨RÕaOÐO.
AvpORa D¤ÕLhj¾]R£
AjOkLfU pgLNWoU 25%, 35%,
40% IÐ]°Rj BWOÐO. CT
oPÐO lLWVar]Wt]sOU j]¡ÚLe
yop¾V DºLp AkLW°tORa
wfoLjU pgLNWoU 4%, 5%, 2%
IÐ]°RjpLeV. KqO nLYU
f]qR´aO¾O kq]SwLi]\ÿSÕL¥
Af]¤ AkLWoOttfLp]
WRº¾]. IË]¤ AfV WÒj] B
j]¡Ú]\ÿfLWLjOtt yUnLv|f
IÍV?

       Time taken to turnout for service after reporting complaint
AkLW°¥ r]SÕL¡ŸV R\pVfSwxU Syvj¾]jV I¾OvL¢ IaO¨OÐ yopU

Company A (Days)
1 2 3 3 2 2

WÒj] A (h]vyU)

Company B (Hours)
35 45 30 35 40 25

WÒj] B (oe]¨P¡)

(5)

(1)

(4) (4)

(5)

(2)

(1)

(2)


